

$$m = \frac{2+2}{2-2} = -2 \quad y-2 = -2(x-2) \quad (الف) 1$$

$$\rightarrow y = -2x + 8$$

$$2y + 4x = -1 \rightarrow 2y = -4x - 1 \rightarrow y = -2x - \frac{1}{2} \rightarrow m = -2 \quad (ب) 1$$

$$y-2 = -2(x-2) \rightarrow y = -2x + 8$$

$$x + 3y = 1 \rightarrow 3y = -x + 1 \rightarrow y = -\frac{1}{3}x + \frac{1}{3} \rightarrow m = -\frac{1}{3} \quad (ج) 1$$

$$y-2 = 3(x-2) \rightarrow y = 3x - 10 \quad m = 3$$

$$\tan \frac{\pi}{4} = \sqrt{3} = m$$

$$y-2 = \sqrt{3}(x-2) \rightarrow y = \sqrt{3}x - 2\sqrt{3} + 2$$

$$\left| \begin{matrix} 2 & -1 \\ 3 & 1 \end{matrix} \right| \quad d = \sqrt{(3)^2 + (-1)^2} = \sqrt{10} \quad (الف) 2$$

$$\frac{|3(2) + 1(2) - 2|}{\sqrt{9+1}} = \frac{10}{\sqrt{10}} = \sqrt{10} \quad (ب) 2$$

$$3x + y - 2 = 0 \rightarrow \frac{3}{\sqrt{10}}$$

$$\begin{cases} 4x + 9y = 12 \\ 2x + 4y = 8 \end{cases} \rightarrow 4x + 9y = \frac{12+8}{2} \rightarrow 4x + 9y = 10 \quad (الف) 3$$

$$\begin{cases} 4x + 9y = 12 \\ 2x + 4y = 8 \end{cases} \rightarrow d = \frac{|12-8|}{\sqrt{16+9}} = \frac{4}{5} = \frac{4\sqrt{5}}{5} \quad (ب) 3$$

$$3x - 2y - 1 = 0, 2x + 3y - 2 = 0 \quad -4$$

$$\frac{|3x - 2y - 1|}{\sqrt{9+4}} = \frac{|2x + 3y - 2|}{\sqrt{4+9}} \rightarrow |3x - 2y - 1| = |2x + 3y - 2|$$

$$3x - 2y - 1 = -2x - 3y + 2$$

$$5x + y = 3$$

$$3x - 2y - 1 = 2x + 3y - 2$$

$$x - 5y = -1$$

Scanned with

$$y = -2x + 3, y = 2x + 1$$

$$m = -2, m' = 2$$

$$\tan \alpha_2 = \left| \frac{-2-2}{1-4} \right| = 1 \quad \alpha = \frac{\pi}{4}$$

$$|AB| = \sqrt{(-2-2)^2 + (4+1)^2} = 10$$

(الف - 9)

$$M = \left(\frac{-2+2}{2}, \frac{2-2}{2} \right) \rightarrow M(-1, 1)$$

(ب)

$$\text{الف) } x_G = \frac{-10 - 2 + 2}{2} = -2$$

$$y_G = \frac{-12 + 2 + 1}{2} = 2$$

$$G \left(\frac{-2}{2}, \frac{2}{2} \right)$$

- 7

$$\begin{vmatrix} -10 & -12 & 1 \\ -2 & 2 & 1 \\ 2 & 1 & 1 \end{vmatrix} = \frac{1}{2} (-20 + 24 - 29 - 9 + 10 - 29) = 39$$

$$y = \frac{-2x+1}{-2x-2}$$

$$-y = \frac{2x+1}{2x-2}$$

(الف - 8)

$$y = \frac{1-2x}{2x-2}$$

$$-x = \frac{-2y+1}{-2y-2}$$

$$x = \frac{2y+1}{2y-2}$$

(ب)

$$2xy + 2x - 2y + 1$$

$$2xy - 2x = 2y + 1$$

$$2xy + 2y = -2x + 1$$

$$2xy - 2y = 2x + 1 \rightarrow 2y = \frac{2x+1}{2x-1}$$

$$2y(2x+1) = -2x+1$$

$$2y = \frac{-2x+1}{2x+1}$$

$$y = \frac{-2x+1}{2x+1}$$

$$y = \frac{2x+1}{2x-1}$$

- 9

$$\begin{cases} 3x + 4y = 2 \end{cases}$$

(الف - ١٥)

$$\begin{cases} x - 2y = 1 \xrightarrow{\times 3} -3x + 12y = -3 \end{cases}$$

$$19y = -1 \rightarrow y = -\frac{1}{19}$$

$$\begin{cases} 3x + 4y = 2 \end{cases}$$

$$x = -\frac{14}{-19}, y = +\frac{1}{-19}$$

(ب - ١٦)

$$\begin{cases} x - 2y = 1 \end{cases}$$

$$x = \frac{14}{19}$$

$$y = \frac{1}{19}$$